
RADIX (int A[], int n) 

int front[10], rear[10]; 
struct{ 
    int info 
    int next 
}node[max] 
int exp, first, i, j, k, p, q, y;

i=0 
        i<n-1 
i++ 

node[n-1].info=A[n-1] 
node[n-1].next=i+1 
first=0 

node[i].info=A[i] 
node[i].next=i+1 
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k=1         
                 k<5 
k++ 

i=0 
        i<10 
i++ 

rear[i]=-1 
front[i]=-1 
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i=0 
        i<n 
i++ 

return 

A[i]=node[first].info 
first=node[first].next 

A[i] 
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first≠-1 

p=first 
first=node[first].next 
y=node[p].info 
exp=10^(k-1) 
j=(y/exp)%10 
q=rear[j]

q==-1 front[j]=p 

node[q].next=p 

rear[j]=p 
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j=0 
      j<10&& 
                         front[j]== -1 
j++ 

3 

first=front[j] 4
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j<=9 node[rear[p]].next= -1 

i=j+1 
      i<10&& 
                         front[i]== -1 
i++ 

i<=9 

j=i 

p=i 
node[rear[j]].next=front[i] 
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